3,000 POUND CAPACITY
AUTO BODY ROTISSERIE UNIT

INSTALLATION / OWNERS MANUAL

ROTISSERIE (R3000G) 1 IN50016 Rev. A 01/25/2008



TABLE OF CONTENTS

e IMPORTANT INFORMATION.......cceummmmmmmmmmmnnmnnnnnnnnnnnnnnnnnnnnnns pg 2
e OWNER/EMPLOYER RESPONSIBILITIES .......cmeemmeeeeeees pg 3
e SAFETY PROCEDURES.........oiiiiiiiimeerree e pg 3
e GENERAL INFORMATION and FEATURES...............cccc..... pg 3
e INSTALLATION / OPERATION PROCEDURE..................... pg 4
e VEHICLE BALANCING OPERATION.........ccooieiriincnneenen pg 7
(Adjusting center of gravity of vehicle)
e ILLUSTRATED PARTS BREAKDOWN ........coommmmmmmmeenenennnns pg 9
® PARTS LIST ... s pg 10
e WARRANTY POLICY ... rrnssmsen e pg 12

IMPORTANT INFORMATION

Any freight damage must be noted on the freight bill before signing and reported to the freight
carrier with a freight claim established. Identify the components and check for shortages. If
shortages are discovered, please contact the Distributor / Sales Rep. in your area for service.

Make sure you have extra help or heavy duty lifting equipment when unloading and assembling
the Rotisserie unit.

Please read the safety procedures and operating instructions in this manual before operating
Rotisserie unit. Keep this manual near Rotisserie unit at all times. Make sure all operators read
this manual.

This is an Auto Body Rotisserie unit installation/operation manual and no attempt is made
or implied herein to instruct the user in specific methods particular to an individual
application. Rather, the contents of this manual are intended as a basis for operation and
maintenance of the Rotisserie unit as it stands alone or as it is intended and anticipated to
be used in conjunction with other equipment.

Proper application of the equipment described herein is limited to the parameters detailed
in the specifications and the uses set forth in the descriptive passages. Any other
proposed application of this equipment should be documented and submitted in writing to
the factory for examination. The user assumes full responsibility for any equipment
damage, personal injury, or alteration of the equipment described in this manual or any
subsequent damages.

ROTISSERIE (R3000G) 2 IN50016 Rev. A 01/25/2008



OWNER / EMPLOYER RESPONSIBILITIES

The Owner / Employer:

» Shall establish procedures to periodically maintain, inspect, and care for the Rotisserie
unit in accordance with the manufactures recommended procedures to ensure its
continued safe operations.

« Shall provide necessary lockout / tag outs of energy sources per ANSI Z2244.1 —1982
before beginning any lift repairs.

+ Shall not modify the Rotisserie unit in any manner without prior written consent of the
manufacturer.

« Shall insure that lift operators are instructed in the proper and safe use and operation of
the Rotisserie unit using the manufacturer’s instructions.

SAFETY PROCEDURES

Total Rotisserie unit capacity is 3,000lbs @ 1,500 Ibs per end . Do not exceed maximum weight
capacity.

Prior to working with Rotisserie unit, walk around and check for any objects that might interfere
with the operation of unit such as: tools, air hoses, shop equipment, etc.

These are generic instructions, please keep in mind there are different ways to hook up the same
vehicle. Make sure to properly secure and balance vehicles center of gravity before using the
rotisserie.

NOTE: There are no set rules when hooking up a vehicle — just make sure there is a strong
enough mounting point.

GENERAL INFORMATION and FEATURES

The Auto Body Rotisserie is a restoration rotisserie that is designed to make restoring any vehicle
a simple and easy task. The Auto Body Rotisserie uses heavy duty ram jacks at each end with a
slow release mechanism for safe load lowering and also incorporates an extra long power stroke

with hydraulic bypass valves preventing the cylinders from over traveling.

The Auto Body Rotisserie will also lower down to most bumper heights allowing capability to lift
the body of the vehicle to any height.

Whether you’re an owner of a large restoration shop or simply a home hobbyist, the Auto
Body Rotisserie provides an efficient and affordable way for anyone to restore old classic
vehicles.

ROTISSERIE (R3000G) 3 IN50016 Rev. A 01/25/2008



INSTALLATION / OPERATION PROCEDURE

1. Install the 6 Caster Wheels to the bottom of each Rack Leg, Fig. 1. NOTE: Do not over
tighten bolts. Install Upright to legs as shown, Fig. 1. You will install 7 bolts, flatwashers,
lockwashers and nuts.

1)

M16 x 4-3/8” Hex Bolt \
|
@16 Flatwasher ‘

@16 Lockwasher
M16 Hex Nut

M8 Nylon
Locknut

Caster Wheel

M8 x 3-3/8”
Neck Bolt

FIG. 1

ROTISSERIE (R3000G) 4 IN50016 Rev. A 01/25/2008



2. Install Horizontal Swing Arms as shown, Fig. 2.

=

@16 Flatwasher
M16 x 4-3/8” Hex Bolt

@16 Lockwasher
M16 Hex Nut

FIG. 2

3. Install Adapter Arms, Fig. 3.

ROTISSERIE (R3000G) 5 IN50016 Rev. A 01/25/2008



4. Apply good grade lithium shop grease to all sliding parts. This will provide for smooth and
easier operation.

5. Check your mounting point for your particular vehicle. This can be different, depending on
the make/model of your vehicle.

6. With the vehicle on Jack Stands, center the Auto Body Rotisserie bases to the front and
rear of vehicle. NOTE: Sometimes vehicles are heavier on one side and will need to
be offset to that side.

7. Mount the Auto Body Rotisserie Adapter Arms to the vehicle.

8. Place the Connecting Tubes in the center of the Rotisserie unit end pieces and tighten
bolts, Fig. 4. NOTE: Leave one end loose until ready to lift vehicle.

s © © © ©
'Y

M12 x 1-3/8” Bolts x '.'

Connecting Tube
(Outer)

Connecting Tube
(Inner)

FIG. 4

9. Check all mounting bolts to insure they are tightened properly and there is enough distance
between the vehicle and Auto Body Rotisserie unit.

10.Make sure that Rotisserie bases are parallel to each other. Now you can fully tighten the
Connecting Tubes.

11.Now begin lifting the vehicle up with the hydraulic cylinders. Lift just high enough to
remove Jack Stands.

12.NOTE: The vehicle is not centered and balanced and will not spin yet. It will just
swing like a clock pendulum.
See next section for proper “center of gravity” and balancing procedure

ROTISSERIE (R3000G) 6 IN50016 Rev. A 01/25/2008



VEHICLE BALANCING OPERATION

(Adjusting the “Center of Gravity” of the Vehicle)

13.CAUTION: This is the most dangerous time during the use of the Auto Body
Rotisserie unit. We have incorporated safety features that prohibit you from turning
the Rotisserie unit while adjusting. This also prevents the unit from slipping while
adjusting.

14. Always start with the Swing arms (upside down “T”) as low as it can be. NOTE: This will
make the vehicle bottom heavy to help prevent causing an accident or personal
injury.

15. Align the Rotation Balancer so the Balance Bolt/Arm fits into the welded cup located on top
of the Pivot Point Base, Fig. 5. NOTE: This is what prevents you from turning while
adjusting.

Balance Bolt/Arm

Rotation Balancer

S © o oV

Pivot Point Base

ROTISSERIE (R3000G) 7 IN50016 Rev. A 01/25/2008



16. Apply pressure with the Balancer so you can remove the Bolt, Washer and Nut that holds
the swing arm in place, Fig. 6.

Remove this Bolt
Washer and Nut

FIG. 6

17.Raise the Swing arm up using a socket or impact wrench, being sure to move each end up
only one hole at a time. This is to prevent any binding.

18.Put the large Bolt, Washer and Nut in the next hole and tighten.

19.Back out the Balance Rod enough to swing the vehicle.

20.Test the balance by swinging the vehicle from side to side.

21.If the vehicle is still bottom heavy REPEAT FROM STEP #15 testing the balance in each

hole. NOTE: As long as you don’t jump over holes the difference from one hole to
the next is never so great as to become uncontrollable.

Hydraulic Fluid

If hydraulic fluid needs to be added to hydraulic cylinders, please use:

ISO 32 Light Hydraulic Oil

ROTISSERIE (R3000G) 8 IN50016 Rev. A 01/25/2008



ILLUSTRATED PARTS BREAKDOWN

R3000G
Auto Body Rotisserie Unit

ROTISSERIE (R3000G) 9 IN50016 Rev. A 01/25/2008



Rotisserie Parts Breakdown

1 | R3000-1000 Pivot Point Base 2
2 | R3000-2000 Adapter Arms 4
3 | R3000-3000 Pivot Attachment 2
4 | R3000-4000 Rotation Balancer 2
5 | R3000-5000G | Swing Arm Upright 2
6 | R3000-6000A | Rack Weld Upright 2
7 | R3000-6000B | Rack Legs 4
8 | R3000-5001G | Swing Arm Horizontal 2
9 | R3000-0001 Connecting Tube 2
10 | R3000-0003 Connecting Tube 1
11 | B11-18x600 M18x600 (23-5/8" long) Bolt 2
12 | B11-18%50 M18x50 (2" long) Bolt 8
13 | B11-24%120 M24x120 (4-3/4" long) Bolt 4
14 | R3000-0002 Washer 4
15 | B31-24 M24 Hex Nut 4
16 | B11-12x100 M12x100 (3-15/16" long) Bolt 2
17 | B31-12 M12 Hex Nut 4
18 | B11-12%x35 M12x35 (1-3/8" long) Bolt 6
19 | B11-12x60 M12x60 (2-3/8" long) Bolt 2
20 | B41-12 @12 Flat Washer 2
21| B40-12 312 Lock Washer 2
22 | B11-16x80 M16x80 (3-1/8" long) Bolt 2
23 | B41-16 @16 Flat Washer 22
24 | B40-16 316 Lock Washer 22
25 | B31-16 M16 Hex Nut 22
26 | B16-8x85 M8x85 (3-3/8" long) Neck Bolt 6
27 | B33-8 M8 Nylon Lock Nut 6
28 | R3000-9100 Cylinder 2
29 | B80-5%1.5 5"x1.5" Casters 6
30 | B11-16x110 M16%110 (4-3/8" long) Bolt 20

ROTISSERIE (R3000G)

10

IN50016 Rev. A 01/25/2008



Optional Accessory Parts Available For Rotisserie Unit

Uni-Body Bracket Mounting Bracket Leaf Spring Bracket
Part A3000-A1 Part A3000-A3 Part A3000-A4

\ \
/ /
Universal Door Bar Valance Bracket
Part A3000-A5 Part A3000-A2

ROTISSERIE (R3000G) 11 IN50016 Rev. A 01/25/2008



WARRANTY POLICY

+ Two Post/Four Post, Vehicle and Specialty Lifts weight capacity models 7,000 Ibs. through 14,000 Ibs. are
warranted for (5) years on structural components and (2) years on hydraulic power units and cylinders from invoice
date.

* Low Rise and Mid Rise Lifts weight capacity models 6,000Ib are warranted for (2) years on structural
components and (2) years on hydraulic power units and cylinders from invoice date.

* Rotisserie units, Motor Cycle Lifts, Jacks, Lift Accessories, Jack Stands and Lift Kits, etc. are warranted
for (1) year on structural components and (1) year on air / hydraulic power units, pneumatic cylinders and
components from invoice date.

NOTE: ALL WARRANTY CLAIMS MUST BE PRE-APPROVED BY THE MANUFACTURER TO BE VALID.

The Manufacturer shall repair or replace at their option for this period those parts returned to the factory freight
prepaid, which prove after inspection to be defective. This warranty will not apply unless the product is installed,
used and maintained in accordance with the Manufacturers installation, operation and maintenance instructions.

This warranty applies to the ORIGINAL purchaser only, and is non-transferable. The warranty covers the products to
be free of defects in material and workmanship but, does not cover normal maintenance or adjustments, damage or
malfunction caused by: improper handling, installation, abuse, misuse, negligence, carelessness of operation or
normal wear and tear. In addition, this warranty does not cover equipment when repairs or alterations have been
made or attempted to the Manufacturer’s products.

THIS WARRANTY IS EXCLUSIVE AND IS LIEU OF ALL OTHER WARRANTIES EXPRESSED OR IMPLIED
INCLUDING ANY IMPLIED WARRANTY OR MERCHANTABILITY OR ANY IMPLIED WARRANTY OF FITNESS
FROM A PARTICULAR PURPOSE, AND ALL SUCH IMPLIED WARRANTIES ARE EXPRESSLY EXCLUDED.

THE REMEDIES DESCRIBED ARE EXCLUSIVE AND IN NO EVENT SHALL THE MANUFACTURER, NOR ANY
SALES AGENT OR OTHER COMPANY AFFILIATED WITH IT OR THEM, BE LIABLE FOR SPECIAL
CONSEQUENTIAL OR INCIDENTAL DAMAGES FOR THE BREACH OF OR DELAY IN PERFORMANCE OF THIS
WARRANTY. THIS INCLUDES, BUT IS NOT LIMITED TO, LOSS OF PROFIT, RENTAL OR SUBSTITUTE
EQUIPMENT OR OTHER COMMERCIAL LOSS.

This warranty shall be governed under the laws of Indiana, and shall be subject to the exclusive jurisdiction of the
Court in the State of Indiana in the county of Jefferson.

PRICES: Prices and specifications are subject to change without notice. All orders will be invoiced at prices
prevailing at time of shipment. Prices do not include any local, state or federal taxes.

RETURNS: Products may not be returned without prior written approval from the Manufacturer.

DUE TO THE COMPETITIVENESS OF THE SELLING PRICE OF THESE LIFTS, THIS WARRANTY POLICY WILL
BE STRICTLY ADMINISTERED AND ADHERED TO.

Rev 01/08/2008

ROTISSERIE (R3000G) 12 IN50016 Rev. A 01/25/2008




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Gray Gamma 2.2)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.5
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.1000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails true
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings true
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams true
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts false
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Remove
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
    /AcadEref
    /AGaramond-Italic
    /AGaramond-Regular
    /AGaramond-Semibold
    /AGaramond-SemiboldItalic
    /AgencyFB-Bold
    /AgencyFB-Reg
    /AIGDT
    /AlbertusMT
    /AlbertusMT-Italic
    /AlbertusMT-Light
    /Algerian
    /AmdtSymbols
    /AMGDT
    /AntiqueOlive-Bold
    /AntiqueOlive-Compact
    /AntiqueOlive-Italic
    /AntiqueOlive-Roman
    /Arial-Black
    /Arial-BlackItalic
    /Arial-BoldItalicMT
    /Arial-BoldMT
    /Arial-ItalicMT
    /ArialMT
    /ArialNarrow
    /ArialNarrow-Bold
    /ArialNarrow-BoldItalic
    /ArialNarrow-Italic
    /ArialRoundedMTBold
    /ArialUnicodeMS
    /AvantGarde-Book
    /AvantGarde-BookOblique
    /AvantGardeCE-Book
    /AvantGardeCE-BookOblique
    /AvantGardeCE-Demi
    /AvantGardeCE-DemiOblique
    /AvantGarde-Demi
    /AvantGarde-DemiOblique
    /BankGothicBT-Light
    /BankGothicBT-Medium
    /BaskOldFace
    /Bauhaus93
    /BellMT
    /BellMTBold
    /BellMTItalic
    /BerlinSansFB-Bold
    /BerlinSansFBDemi-Bold
    /BerlinSansFB-Reg
    /BernardMT-Condensed
    /BlackadderITC-Regular
    /Bodoni
    /Bodoni-Bold
    /Bodoni-BoldItalic
    /Bodoni-Italic
    /BodoniMT
    /BodoniMTBlack
    /BodoniMTBlack-Italic
    /BodoniMT-Bold
    /BodoniMT-BoldItalic
    /BodoniMTCondensed
    /BodoniMTCondensed-Bold
    /BodoniMTCondensed-BoldItalic
    /BodoniMTCondensed-Italic
    /BodoniMT-Italic
    /BodoniMTPosterCompressed
    /Bodoni-Poster
    /Bodoni-PosterCompressed
    /BookAntiqua
    /BookAntiqua-Bold
    /BookAntiqua-BoldItalic
    /BookAntiqua-Italic
    /BookmanCE-Demi
    /BookmanCE-DemiItalic
    /BookmanCE-Light
    /BookmanCE-LightItalic
    /Bookman-Demi
    /Bookman-DemiItalic
    /Bookman-Light
    /Bookman-LightItalic
    /BookmanOldStyle
    /BookmanOldStyle-Bold
    /BookmanOldStyle-BoldItalic
    /BookmanOldStyle-Italic
    /BookshelfSymbolSeven
    /BradleyHandITC
    /BritannicBold
    /Broadway
    /BrushScriptMT
    /CaflischScript-Bold
    /CaflischScript-Regular
    /CalcitePro-Black
    /CalcitePro-Bold
    /CalcitePro-Regular
    /CalifornianFB-Bold
    /CalifornianFB-Italic
    /CalifornianFB-Reg
    /CalisMTBol
    /CalistoMT
    /CalistoMT-BoldItalic
    /CalistoMT-Italic
    /Carta
    /Castellar
    /Centaur
    /Century
    /CenturyGothic
    /CenturyGothic-Bold
    /CenturyGothic-BoldItalic
    /CenturyGothic-Italic
    /CenturySchoolbook
    /CenturySchoolbook-Bold
    /CenturySchoolbook-BoldItalic
    /CenturySchoolbook-Italic
    /Charcoal
    /Cheltenham-Bold
    /Cheltenham-BoldCond
    /Cheltenham-BoldCondItalic
    /Cheltenham-BoldItalic
    /Cheltenham-Book
    /Cheltenham-BookCond
    /Cheltenham-BookCondItalic
    /Cheltenham-BookItalic
    /Cheltenham-LightCond
    /Cheltenham-LightCondItalic
    /CheltenhamMite-ExtBldExtCnd
    /Cheltenham-UltraCond
    /Cheltenham-UltraCondItalic
    /Chiller-Regular
    /CityBlueprint
    /Clarendon
    /Clarendon-Bold
    /Clarendon-Light
    /ColonnaMT
    /ComicSansMS
    /ComicSansMS-Bold
    /CommercialPiBT-Regular
    /CommercialScriptBT-Regular
    /Complex
    /CooperBlack
    /CooperBlack-Italic
    /CopperplateGothic-Bold
    /CopperplateGothic-Light
    /Copperplate-ThirtyAB
    /Copperplate-ThirtyBC
    /Copperplate-ThirtyOneAB
    /Copperplate-ThirtyOneBC
    /Copperplate-ThirtyThreeBC
    /Copperplate-ThirtyTwoAB
    /Copperplate-ThirtyTwoBC
    /Copperplate-TwentyNineAB
    /Copperplate-TwentyNineBC
    /CoronetCE-Regular
    /Coronet-Regular
    /CountryBlueprint
    /Courier
    /Courier-Bold
    /Courier-BoldOblique
    /CourierCE
    /CourierCE-Bold
    /CourierCE-BoldOblique
    /CourierCE-Oblique
    /CourierNewPS-BoldItalicMT
    /CourierNewPS-BoldMT
    /CourierNewPS-ItalicMT
    /CourierNewPSMT
    /Courier-Oblique
    /Critter
    /CurlzMT
    /Dutch801BT-Bold
    /Dutch801BT-BoldItalic
    /Dutch801BT-ExtraBold
    /Dutch801BT-Italic
    /Dutch801BT-Roman
    /EdwardianScriptITC
    /Elephant-Italic
    /Elephant-Regular
    /EngraversMT
    /ErasITC-Bold
    /ErasITC-Demi
    /ErasITC-Light
    /ErasITC-Medium
    /EstrangeloEdessa
    /EuroMono-Bold
    /EuroMono-BoldItalic
    /EuroMono-Italic
    /EuroMono-Regular
    /EuroRoman
    /EuroRomanOblique
    /EuroSans-Bold
    /EuroSans-BoldItalic
    /EuroSans-Italic
    /EuroSans-Regular
    /EuroSerif-Bold
    /EuroSerif-BoldItalic
    /EuroSerif-Italic
    /EuroSerif-Regular
    /Eurostile
    /Eurostile-Bold
    /Eurostile-BoldExtendedTwo
    /Eurostile-ExtendedTwo
    /ExPonto-Regular
    /FelixTitlingMT
    /Folio-Bold
    /Folio-BoldCondensed
    /Folio-ExtraBold
    /Folio-Light
    /Folio-Medium
    /FootlightMTLight
    /ForteMT
    /FranklinGothic-Book
    /FranklinGothic-BookItalic
    /FranklinGothic-Demi
    /FranklinGothic-DemiCond
    /FranklinGothic-DemiItalic
    /FranklinGothic-Heavy
    /FranklinGothic-HeavyItalic
    /FranklinGothic-Medium
    /FranklinGothic-MediumCond
    /FranklinGothic-MediumItalic
    /Free3of9
    /FreestyleScript-Regular
    /FrenchScriptMT
    /Garamond
    /Garamond-Bold
    /Garamond-BoldCondensed
    /Garamond-BoldCondensedItalic
    /Garamond-BookCondensed
    /Garamond-BookCondensedItalic
    /Garamond-Italic
    /Garamond-LightCondensed
    /Garamond-LightCondensedItalic
    /Gautami
    /GDT
    /Georgia
    /Georgia-Bold
    /Georgia-BoldItalic
    /Georgia-Italic
    /Gigi-Regular
    /GillSans
    /GillSans-Bold
    /GillSans-BoldCondensed
    /GillSans-BoldItalic
    /GillSans-Condensed
    /GillSans-ExtraBold
    /GillSans-Italic
    /GillSans-Light
    /GillSans-LightItalic
    /GillSansMT
    /GillSansMT-Bold
    /GillSansMT-BoldItalic
    /GillSansMT-Condensed
    /GillSansMT-ExtraCondensedBold
    /GillSansMT-Italic
    /GillSans-UltraBold
    /GillSans-UltraBoldCondensed
    /GloucesterMT-ExtraCondensed
    /GothicE
    /GothicG
    /GothicI
    /Goudy
    /Goudy-Bold
    /Goudy-BoldItalic
    /Goudy-ExtraBold
    /Goudy-Italic
    /GoudyOldStyleT-Bold
    /GoudyOldStyleT-Italic
    /GoudyOldStyleT-Regular
    /GoudyStout
    /GreekC
    /GreekS
    /Haettenschweiler
    /HarlowSolid
    /Harrington
    /Helvetica
    /Helvetica-Bold
    /Helvetica-BoldOblique
    /HelveticaCE
    /HelveticaCE-Bold
    /HelveticaCE-BoldOblique
    /HelveticaCE-Cond
    /HelveticaCE-CondBold
    /HelveticaCE-CondBoldObl
    /HelveticaCE-CondObl
    /HelveticaCE-Narrow
    /HelveticaCE-NarrowBold
    /HelveticaCE-NarrowBoldOblique
    /HelveticaCE-NarrowOblique
    /HelveticaCE-Oblique
    /Helvetica-Condensed
    /Helvetica-Condensed-Bold
    /Helvetica-Condensed-BoldObl
    /Helvetica-Condensed-Oblique
    /Helvetica-Narrow
    /Helvetica-Narrow-Bold
    /Helvetica-Narrow-BoldOblique
    /Helvetica-Narrow-Oblique
    /Helvetica-Oblique
    /HighTowerText-Italic
    /HighTowerText-Reg
    /If
    /Impact
    /ImprintMT-Shadow
    /InformalRoman-Regular
    /ISOCP
    /ISOCP2
    /ISOCP3
    /ISOCPEUR
    /ISOCPEURItalic
    /ISOCT
    /ISOCT2
    /ISOCT3
    /ISOCTEUR
    /ISOCTEURItalic
    /Italic
    /ItalicC
    /ItalicT
    /JoannaMT
    /JoannaMT-Bold
    /JoannaMT-BoldItalic
    /JoannaMT-Italic
    /Jokerman-Regular
    /JuiceITC-Regular
    /Kartika
    /KristenITC-Regular
    /KunstlerScript
    /Latha
    /LatinWide
    /LetterGothic
    /LetterGothic-Bold
    /LetterGothic-BoldSlanted
    /LetterGothicMT
    /LetterGothicMT-Bold
    /LetterGothicMT-BoldOblique
    /LetterGothicMT-Oblique
    /LetterGothic-Slanted
    /Lithos-Black
    /Lithos-Regular
    /LubalinGraph-Book
    /LubalinGraph-BookOblique
    /LubalinGraph-Demi
    /LubalinGraph-DemiOblique
    /LucidaBright
    /LucidaBright-Demi
    /LucidaBright-DemiItalic
    /LucidaBright-Italic
    /LucidaCalligraphy-Italic
    /LucidaConsole
    /LucidaFax
    /LucidaFax-Demi
    /LucidaFax-DemiItalic
    /LucidaFax-Italic
    /LucidaHandwriting-Italic
    /LucidaSans
    /LucidaSans-Demi
    /LucidaSans-DemiItalic
    /LucidaSans-Italic
    /LucidaSans-Typewriter
    /LucidaSans-TypewriterBold
    /LucidaSans-TypewriterBoldOblique
    /LucidaSans-TypewriterOblique
    /LucidaSansUnicode
    /Magneto-Bold
    /MaiandraGD-Regular
    /Mangal-Regular
    /Marigold
    /MaturaMTScriptCapitals
    /MicrosoftSansSerif
    /Minion-BoldCondensed
    /Minion-BoldCondensedItalic
    /Minion-Condensed
    /Minion-CondensedItalic
    /Minion-Ornaments
    /Mistral
    /Modern-Regular
    /MonaLisa-Recut
    /Monospace821BT-Bold
    /Monospace821BT-BoldItalic
    /Monospace821BT-Italic
    /Monospace821BT-Roman
    /Monotxt
    /MonotypeCorsiva
    /MSOutlook
    /MSReferenceSansSerif
    /MSReferenceSpecialty
    /MVBoli
    /Myriad-Bold
    /Myriad-BoldItalic
    /Myriad-Italic
    /Myriad-Roman
    /Myriad-Tilt
    /New
    /NewCenturySchlbk-Bold
    /NewCenturySchlbk-BoldItalic
    /NewCenturySchlbkCE-Bold
    /NewCenturySchlbkCE-BoldItalic
    /NewCenturySchlbkCE-Italic
    /NewCenturySchlbkCE-Roman
    /NewCenturySchlbk-Italic
    /NewCenturySchlbk-Roman
    /NewUnicodeFont
    /NiagaraEngraved-Reg
    /NiagaraSolid-Reg
    /Nueva-BoldExtended
    /Nueva-Roman
    /NuptialScript
    /OCRAExtended
    /OfficinaSans-Bold
    /OfficinaSans-BoldItalic
    /OfficinaSans-Book
    /OfficinaSans-BookItalic
    /OfficinaSerif-Bold
    /OfficinaSerif-BoldItalic
    /OfficinaSerif-Book
    /OfficinaSerif-BookItalic
    /OldEnglishTextMT
    /Onyx
    /Optima
    /Optima-Bold
    /Optima-BoldItalic
    /Optima-Italic
    /Oxford
    /PalaceScriptMT
    /Palatino-Bold
    /Palatino-BoldItalic
    /PalatinoCE-Bold
    /PalatinoCE-BoldItalic
    /PalatinoCE-Italic
    /PalatinoCE-Roman
    /Palatino-Italic
    /PalatinoLinotype-Bold
    /PalatinoLinotype-BoldItalic
    /PalatinoLinotype-Italic
    /PalatinoLinotype-Roman
    /Palatino-Roman
    /PanRoman
    /Papyrus-Regular
    /Parchment-Regular
    /Perpetua
    /Perpetua-Bold
    /Perpetua-BoldItalic
    /Perpetua-Italic
    /PerpetuaTitlingMT-Bold
    /PerpetuaTitlingMT-Light
    /Playbill
    /Poetica-ChanceryI
    /PoorRichard-Regular
    /Pristina-Regular
    /Proxy1
    /Proxy2
    /Proxy3
    /Proxy4
    /Proxy5
    /Proxy6
    /Proxy7
    /Proxy8
    /Proxy9
    /Raavi
    /RageItalic
    /Ravie
    /Rockwell
    /Rockwell-Bold
    /Rockwell-BoldItalic
    /Rockwell-Condensed
    /Rockwell-CondensedBold
    /Rockwell-ExtraBold
    /Rockwell-Italic
    /RomanC
    /RomanD
    /RomanS
    /RomanT
    /Romantic
    /RomanticBold
    /RomanticItalic
    /RussellSquare-Oblique
    /SansSerif
    /SansSerifBold
    /SansSerifBoldOblique
    /SansSerifOblique
    /Sanvito-Light
    /Sanvito-Roman
    /ScriptC
    /ScriptMTBold
    /ScriptS
    /ShowcardGothic-Reg
    /Shruti
    /Simplex
    /SnapITC-Regular
    /StempelGaramond-Bold
    /StempelGaramond-BoldItalic
    /StempelGaramond-Italic
    /StempelGaramond-Roman
    /Stencil
    /StylusBT
    /SuperFrench
    /Swiss721BT-Black
    /Swiss721BT-BlackCondensed
    /Swiss721BT-BlackCondensedItalic
    /Swiss721BT-BlackExtended
    /Swiss721BT-BlackItalic
    /Swiss721BT-BlackOutline
    /Swiss721BT-Bold
    /Swiss721BT-BoldCondensed
    /Swiss721BT-BoldCondensedItalic
    /Swiss721BT-BoldCondensedOutline
    /Swiss721BT-BoldExtended
    /Swiss721BT-BoldItalic
    /Swiss721BT-BoldOutline
    /Swiss721BT-Italic
    /Swiss721BT-ItalicCondensed
    /Swiss721BT-Light
    /Swiss721BT-LightCondensed
    /Swiss721BT-LightCondensedItalic
    /Swiss721BT-LightExtended
    /Swiss721BT-LightItalic
    /Swiss721BT-Medium
    /Swiss721BT-Roman
    /Swiss721BT-RomanCondensed
    /Swiss721BT-RomanExtended
    /Syastro
    /Sylfaen
    /Symap
    /Symath
    /Symbol
    /Symeteo
    /Symusic
    /Tahoma
    /Tahoma-Bold
    /Technic
    /TechnicBold
    /TechnicLite
    /TechnoRegular
    /Tekton
    /TempusSansITC
    /Times-Bold
    /Times-BoldItalic
    /TimesCE-Bold
    /TimesCE-BoldItalic
    /TimesCE-Italic
    /TimesCE-Roman
    /Times-Italic
    /TimesNewRomanMT-ExtraBold
    /TimesNewRomanPS-BoldItalicMT
    /TimesNewRomanPS-BoldMT
    /TimesNewRomanPS-ItalicMT
    /TimesNewRomanPSMT
    /Times-Roman
    /Trebuchet-BoldItalic
    /TrebuchetMS
    /TrebuchetMS-Bold
    /TrebuchetMS-Italic
    /Tunga-Regular
    /TwCenMT-Bold
    /TwCenMT-BoldItalic
    /TwCenMT-Condensed
    /TwCenMT-CondensedBold
    /TwCenMT-CondensedExtraBold
    /TwCenMT-Italic
    /TwCenMT-Regular
    /Txt
    /Univers
    /UniversalMath1BT-Regular
    /Univers-Black
    /Univers-BlackOblique
    /Univers-Bold
    /Univers-BoldExt
    /Univers-BoldExtObl
    /Univers-BoldOblique
    /Univers-Condensed
    /Univers-CondensedBold
    /Univers-CondensedBoldOblique
    /Univers-CondensedLight
    /Univers-CondensedLightOblique
    /Univers-CondensedOblique
    /Univers-Extended
    /Univers-ExtendedObl
    /Univers-Light
    /Univers-LightOblique
    /Univers-Oblique
    /Utopia-Italic
    /Utopia-Regular
    /Utopia-Semibold
    /Utopia-SemiboldItalic
    /VAGRounded-Black
    /VAGRounded-Bold
    /VAGRounded-Light
    /VAGRounded-Thin
    /Verdana
    /Verdana-Bold
    /Verdana-BoldItalic
    /Verdana-Italic
    /VinerHandITC
    /VinetaBT-Regular
    /Viva-BoldExtraExtended
    /Vivaldii
    /Viva-Regular
    /VladimirScript
    /VolkswagenHeadline
    /Vrinda
    /Webdings
    /Willow
    /Wingdings2
    /Wingdings3
    /Wingdings-Regular
    /WoodtypeOrnaments-One
    /YearbookSolid
    /ZapfChanceryCE-MediumItalic
    /ZapfChancery-MediumItalic
    /ZapfDingbats
    /ZWAdobeF
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 150
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 200
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.00000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.76
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /ColorImageDict <<
    /QFactor 0.76
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 15
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 15
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 150
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 200
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.00000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.76
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /GrayImageDict <<
    /QFactor 0.76
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 15
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 15
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.00000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects true
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e55464e1a65876863768467e5770b548c62535370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc666e901a554652d965874ef6768467e5770b548c52175370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA (Utilizzare queste impostazioni per creare documenti Adobe PDF adatti per visualizzare e stampare documenti aziendali in modo affidabile. I documenti PDF creati possono essere aperti con Acrobat e Adobe Reader 5.0 e versioni successive.)
    /JPN <>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020be44c988b2c8c2a40020bb38c11cb97c0020c548c815c801c73cb85c0020bcf4ace00020c778c1c4d558b2940020b3700020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken waarmee zakelijke documenten betrouwbaar kunnen worden weergegeven en afgedrukt. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents suitable for reliable viewing and printing of business documents.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
>> setdistillerparams
<<
  /HWResolution [200 200]
  /PageSize [612.000 792.000]
>> setpagedevice


